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# gk url
url = “https://top. chinaz. com/gongsitop/index_500top. html”
# REFKAEE
headers = {
“user-agent”: “Mozilla/5.0 (Windows NT 10.0; Win64; x64) AppleWebKit/537.36 (KHTML, like Gecko) Chrome/95.0.4638.69 Safari/537.36"

}

% ft/lireqeustsiE R GET ik

response = requests. get (url, headers=headers)
# PR AT (47

html = response. text
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# EA re Hit

import re

# AP
message = []
& WILI67 T TR E A
for page in range(16):
# HiFeur]
if page == 0:
url = “https://top. chinaz. com/gongsitop/index_500top. html”
else:
url = “https://top. chinaz. com/gongsitop/index_500top_{}.html”. format (page + 1)
% ftflireqeustsHEHIAHS GET 153K
response = requests. get (url, headers=headers)
html = response. text
# ] findall pREeHFHREIE
# AalE
company = re. findall (" <a. *?target="_blank”> (. +2?)</a></h3>", html)
HEMEA
registered=re. findall (" M #A: </span> (. #2)</p>’, html)
pageOne = list(zip (company, registered))
# A
message. extend (pageOne)
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# B Apython 19y £ #tlicsv

import csv

with open(“content. csv”, “w") as f:
w = csv.writer (f)
w. writerows (message)

In [7]: !cat content.csv
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import pandas as pd

# RS
df = pd. read_csv(“content. csv”, names=["company”, “registered”])
df. head ()



company registered

0 JERHACIRGERAR 1210.711Z7T
1 PEGHRASKHABIRAR 1830.21127¢
2 RERFRNERAS 300127t
3 HEIBRITRHERAS 3493.2123461Z ARM
4 EESEEEARGERAT 116.831Z7T

df. info()

{class 'pandas. core. frame. DataFrame’ >
RangeIndex: 474 entries, 0 to 473
Data columns (total 2 columns):
company 474 non—null object
registered 405 non—null object
dtypes: object(2)

memory usage: 7.5+ KB

0]:  # Fjupyter EHIZREN I
%matplotlib inline
import matplotlib. pyplot as plt

7 HBEEZTR
plt. rcParams[’ font. sans—serif’ ] = [’ SimHei’]

df [’ registered’ ]=df[ registered’ ].astype(str)
df [’ registered’ ] = df[’ registered’ ]. str. extract " (\d+(?:\.\d+)?)", expand=False). astype(float)

HESF
df_sorted=df. sort_values (by= registered’, ascending=False)

HEERFI2017
top_20=df_sorted. head(20)

HERH

plt. bar (top_20[ company’ ], top_20[ registered ])
plt. xticks (rotation=45)

plt. xlabel ( ARILZF")

plt. ylabel C VEMZEA)

plt. show
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{function matplotlib. pyplot. show(close=None, block=None)>
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